
Time: 10 Minutes Paper G.Science 5th Total Marks: 10

3rd Month, 4th Week, 6th Day Syllabus: Monthly test Unit 3,4

Q.No.1 Encircle the correct answer from the following choices. (5)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX
1. Which disease is caused due to air pollution?

ccccððððMMMMßßßßŠŠŠŠÏÏÏÏÅÅÅÅzzzzzzzzÐÐÐÐÃÃÃÃyyyyÏÏÏÏFFFFgggg~~~~aaaaZZZZƒƒƒƒCCCCìììì????
(a) Diarhea eZ],c* (b) Typhoid N*"3¨é JGEà

(c) Lungs cancer µzV»ã (d) Cholera é

2. Which one of the following causes most of air pollution?

ZZZZyyyy~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚ccccððððMMMMßßßßŠŠŠŠÏÏÏÏÅÅÅÅ((((,,,,~~~~zzzzzzzzìììì????
(a) Collecting rubber g(,¦™** (b) Burning rubber g(,°**

(c) Reusing rubbr g(,Šz!*g{ZEw™** (d) Recycling rubber g(,|Šz!*g{¯**
3. The germs present in it cause typhoid? ZZZZkkkk~~~~ññññ����ŠŠŠŠ̀̀̀̀ZZZZāāāāNNNN****""""3333̈¨̈̈éééé JJJJGGGGEEEEààààÅÅÅÅzzzzzzzz‘‘‘‘WWWW÷÷÷÷????
(a) Sewage water ïÏ»0*ã (b) Fertilizers 3Š,

(c) Factory water 1-V»— (d) Inseticides Q}âgŠzZ×V
4. ________ ripens to form fruit.

<<<<----™™™™VVVV¯̄̄̄CCCCììììXXXX _______ 

(a) Ovule Zzz-w (b) Ovary Zzzg~

(c) Anther Z
&4-

¡
ç
G
EG

(d) Seed Õ@

5. The gram seed has _______cotyledons. »»»»KKKK7777yyyy÷÷÷÷XXXX _______ WWWWÆÆÆÆÕÕÕÕ@@@@ÆÆÆÆ

(a) Two Šz (b) Three &

(c) Four eg (d) Five 0*õ

Q. No. 1.  Define reproduction: (2)

ggggTTTTzzzzeeeë̈̈̈ÅÅÅÅ°°°°pppp™™™™,,,,::::   :1 ÎÎÎÎZZZZwwww����

Q. No. 2.  What is greenhouse effect? (3)

¤¤¤¤////++++;;;;îîîîkkkkZZZZWWWW,,,,HHHHìììì????   :2 ÎÎÎÎZZZZwwww����

________________________________________________________________________

________________________________________________________________________
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